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                                                                               Aptitude XI                           

 

 

1Q- In a queue, Santa is 14
th

 from the front and Banta is 17
th

 from the end, while Jane is in between  Santa and 

Banta. If Santa be ahead of Banta and these be 48 persons in the queue, how many persons are there between Santa 

and Banta?  

     (a)5              (b)6                 (c)7               (d)8 

Direction of Question 2 and 3: You have to consider the statement and decide which of the assumption is 

implicit in the statement 

2Q- Statement:- If degrees are delinked with jobs, boys will think thrice before joining college. 

   Assumption: (I)  Student join college education for setting jobs.  

                         (II) A degree is of no use for getting jobs. 

Give your answer as- 

    (a)If only assumption ‘I’ is implicit. 

    (b)If only assumption ‘II’ is implicit. 

    (c)If either I or II is implicit. 

    (d)can’t determine. 

 

3Q - Statement :-“If  we need to boost our exports, We can’t ignore our ports”. An economic   analyst. 

 Assumptions: 

        (I) Our ports are in a good shape.  

        (II) Our ports not in good shape. 

Give your answer as- 

    (a)If only assumption ‘I’ is implicit. 

    (b)If only assumption ‘II’ is implicit. 

    (c)If either I or II is implicit. 

    (d) if neither I nor II is implicit 

 

4Q- A statement is followed by two conclusions I and II. 

              Statement :- These apples are too expensive to be bad  

Conclusion: 

                    (I)When apples are in short supply, the prices go up. 

     (II)The higher the selling price, the superior is the quality of the commodity. 

Give your answer as: 

   (a) If only conclusion I follows 

   (b) If only conclusion II follows 

   (c) If either I or II follows 

   (d) If neither I nor II follows 

 

5Q-  A statement is followed by two Arguments I and II. 
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Statement : Should new universities be established in India?

Arguments: 

(I)No, we have not yet achieved the target of literacy.

(II)No, we have to face the problems of 

Give your answer as. 

   (a)If only argument I is strong. 

   (b)If only argument II is strong. 

   (c)If either I or II are strong. 

   (d)If neither I nor II is strong.  

 

6Q- Find the next figure in the series 

 Problem 

      (a)         (b) (c) 

 

7Q-  Find the correct answer. If in a code language MA

      Then CALCUTTA will be coded as

     (a)OZMBVSUB 

     (b)DZMBVSUZ  

     (c)DZMBVUUZ 

     (d)BBKBTUSB 

8Q-  Choose the one which does not belong to the grou

     (a)3:8           (b)6:35             (c)7:50              (d)1:0

9Q- Find the one that does not belong to the g

     (a)JKMP       (b)WXZC        (c)GHJM          (d)STWZ

10Q- Lalit walks 9km east, turn south-west and walks another 8km. He again takes a turn 

walks another 5km. In which direction 

     (a)North-East               (b)West           (c)South
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be established in India? 

et achieved the target of literacy. 

(II)No, we have to face the problems of highly educated but unemployed youths. 

 

(d)  

Find the correct answer. If in a code language MADRAS is codes as NZEQBR 

Then CALCUTTA will be coded as 

which does not belong to the group. 

(a)3:8           (b)6:35             (c)7:50              (d)1:0 

ind the one that does not belong to the group. 

(a)JKMP       (b)WXZC        (c)GHJM          (d)STWZ 

west and walks another 8km. He again takes a turn  towards North

walks another 5km. In which direction from his starting point is he standing now. 

East               (b)West           (c)South- East          (d)East 

 

Floor, New Asiatic Building, Connaught Place, New Delhi-110001 

ncofindia.org 

towards North-west and 
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Answar key 

1.(c)   2.   (a)     3.   (d)    4.    (b)    5.     (d)  

6.(a)   7.   (b)     8.   (d)    9.    (d)    10.   (c) 
 

 


